 Psyc941 Quiz #3  Hw#8:  k-group ANOVA, Pairwise Comparisons & Trend Analyses      

1. The purpose of the study was to look at the effects of amount of reward upon acquisition of a concept learning task.  Participants were randomly assigned to the 5-, 10- or 15-piece reward condition.  All participants completed 20 practice trials during which they received the appropriate number of pieces of reward after each successful trial.  Then they completed 10 test trials – the DV was the number of the 10 test trials that they got correct.

For this part of the assignment use the data found on top of the last page of this exercise.

a. What type of design is this???   

b. What type of ANOVA will we use?                            What variables will be used in the analysis?

c. Will the results be causally interpretable?

Does this design have good initial equivalence?  Why or why not?

Is this study likely to have good ongoing equivalence?  Why or why not?

d. Condition means  5-piece ______________   10-piece ______________  15-piece ____________
e. F = __________   df effect =  _______   df error = _________   MSe = ____________  p = _________     r = __________
f. k = ________________    # pairwise comparisons  = _____________     N = ____________   n = __________
g. Compute the LSDmmd                    LSDmmd =                                 HSDmmd = 

One research hypothesis was that while 10 pieces of reward condition would outperform the 5 pieces of reward condition, the 15 pieces of reward condition would have better performance than either of the other conditions. 

Base the following on the LSD & HSD from the SPSS output (not the values you computed in “g”).
	Pairwise Comparison Summary Table


	5-piece vs. 

10-piece
	5-piece vs.
15-piece
	10-piece vs. 

15-piece

	h. Pairwise RH:
	
	
	

	i. Mean difference
	
	
	

	j. LSD NHST results
	
	
	

	k. LSD RH: test results
	
	
	

	l. HSD NHST results
	
	
	

	m. HSD RH: test results
	
	
	

	n. LSD “vs.” HSD results
	
	
	


h.  Do these results support the RH:? Explain your answer carefully.
Another research hypothesis was that the pattern of mean differences across the reward conditions would show a positive linear and a U-shaped quadratic trend.

i. Linear trend component
F = __________   df effect =  _______   df error = _________   MSe = ____________  p = _________     r = __________
j. Quadratic trend component

F = __________   df effect =  _______   df error = _________   MSe = ____________  p = _________     r = __________
k. Do these results support the RH: ?  Carefully explain your answer.
l. Show both a Table and a Graph that portrays the data.

m. Following the example in the SPSS handouts, write up the results of the omnibus test,  the pairwise comparisons (using HSD), and the trend analysis evaluations of the RH:s Refer to either the Table or the Figure in your write-up (not both).
2. Subjects learned a list of 10 pairs of words on day one, and recalled the pairs two days later.  Following the recall test, the subjects learned a second list of pairs, and were tested 2 days later, etc. for four lists.

For this part of the assignment use the data found on bottom of the last page of this exercise.

a. What type of design is this???   

b. What type of ANOVA will we use?                            What variables will be used in the analysis?

c. Will the results be causally interpretable?

Does this design have good initial equivalence?  Why or why not?

Is this study likely to have good ongoing equivalence?  Why or why not?

d. Condition means  List 1 ______________   List 2 ______________  List 3 ____________  List 4 __________
e. F = __________   df effect =  _______   df error = _________   MSe = ____________  p = _________     r = __________
f. k = ________________    # pairwise comparisons  = _____________     N = ____________   n = __________
g. Compute the LSDmmd                    LSDmmd =                                 HSDmmd = 

The research hypothesis is that performance would be the best for List 1 and would decrease for each successive list.  

Base the following on the LSD & HSD from the SPSS output (not the values you computed in “g”).

Indicate any pairwise comparisons that are not needed to fully and directly test the RH: 
	Pairwise Comparison Summary Table


	List 1 vs. List 2
	List 1 vs. List 3
	List 1 vs. List 4
	List 2 vs. List 3
	List 2 vs. List 4
	List 3 vs. List 4

	h. Pairwise RH:
	
	
	
	
	
	

	i. Mean difference
	
	
	
	
	
	

	j. LSD NHST results
	
	
	
	
	
	

	k. LSD RH: test results
	
	
	
	
	
	

	l. HSD NHST results
	
	
	
	
	
	

	m. HSD RH: test results
	
	
	
	
	
	

	n. LSD “vs.” HSD results
	
	
	
	
	
	


h. Do these results support the RH:?  Explain your answer carefully.

Another research hypothesis was that the data would show a combination of a negative linear and U-shaped quadratic trend.

i. Linear trend component
F = __________   df effect =  _______   df error = _________   MSe = ____________  p = _________     r = __________
j. Quadratic trend component

F = __________   df effect =  _______   df error = _________   MSe = ____________  p = _________     r = __________
k. Do these results support the RH: ?  Carefully explain your answer.

l. Show both a Table and a Graph that portrays the data.

Following the example in the SPSS handouts, write up the results of the omnibus test , the pairwise comparisons (using HSD)  and the trend analysis  evaluations of the RH:s.  Refer to either the Table or the Figure in your write-up (not both).

m. Data for Reward Size Study

5 pieces
       10 pieces
         15 pieces


4

7

7


7

6

3


5

9

7

3

7

5

6

8

7

4

6

8

6

7

5

Data for the List Learning Study
         List1  
           List 2
          List 3                  List 4

7

3

2

1

4

8

3

2

7

6

3

4

8

6

1

4

7

2

3

3

6

3

3

1

4

2

0

0

6

7

5

2

